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Exam Style Questions

Circumference of a Circle

Perime-rer ﬂf a SemiCirClE COI’betth(IhS

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

k.

Guidance

1. Read each guestion carefully before you begin answering it.
2. Don't spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

! Revision for this topic
www.corbettmaths.com/contents
Video 60
Video 243
h.
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1. Shown below is a circle with diameter 5cm.

-4

Calculate the circumference of the circle.
Give your answer 1o 1 decimal place.

T =S = [S?O?O\—

(2)
2. Shown below is a circle with radius Scm.
Work out the circumference of the circle.
Give your answer to 1 decimal place.
rxd = SLSksb ...
555 om
2)
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3. Shown below is a circle with radius 10cm.

Work out the circumference of the circle.
Give your answer in terms of r.

T %20 = doT

0 o

(2)
4, Shown below is a circle with diameter 7om.
Work out the circumference of the circle.
Give your answer in terms of r.
- 7~
TLF = 77
........ 1T om
(2)
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5. A circular mirror has a diameter of 1.3m.

%/ Work out the circumference of the mirror.

EIR I ‘I'-O"' E

6. Atin of baked beans has diameter 7.5cm.

- 4

7.5cm

What is the circumference of circle with diameter 7.5cm?

fx?j = 3\3-5l|\.-~
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7. Use n=3.14 to work out the circumference of a circle of diameter 4cm.

B 3.0 xh

V256 ..

8. A circular plate has circumference of 37.7cm
Calculate the diameter of the plate.

12 F 2 =11.000387.,.

......................... cm
(2)
9. A circular pond has radius of 6m.
a Calculate the circumference of the pond.
Give your answer in terms of .
[X)=13
74l = PN/
7
(2)
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10.  Acircle has radius 5.6cm.

-4

(a) Work out the circumference of the circle.

b =
’ ‘%':u.;u”'"‘"

A semicircle has radius 5.6cm

l?--fﬂ;

)

S.6 5.6cm

(b) Work out the perimeter of the semicircle.

15.185 ... ~& = 1F-Sa2A_ .
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11.  The circumference of a circle measures 19.5cm.

% Work out the length of the diameter of the circle.

19-5 .:.(,-; L&O?-

12.  Asemicircle is shown below.

B 12 sLL

9s. 134343 =R = 1St tabl
12.56kx§=00-SUD. .
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13.  The circumference of a circle measures 4m,

% Work out the length of the radius of the circle.

boo - 7 = 123-523 84S
7. %aNsys + A= b3 16117734

14. Georgina has 1 metre of pink ribbon.
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15. James has a bicycle.
Each wheel has diameter 45cm.

James cycles his bicycle in a straight line in the playground.
The front wheel makes 15 complete revolutions.

How far does the bicycle travel?
Give your answer in mefres.

Ao s = 14137216698 (.
91.3% ... X15% J1%Q-5#5---(A

2 Ag-5%5-. <l00<= 2\ 30 5%m
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16.  Acircular wheel has a diameter of 30cm.
% The wheel rolls a distance of 60m.

Calculate the number of complete revolutions completed.

71<30 = Q-84 ..

fooo = Q-34FF. ..
= 03001 covldiy

4 . 10.9956

Fem

... O
‘'3 7cm '

N

Work out the petimeter of a quaﬂer-cimle’ with radius 7om.

Trlb= Fs-qiu_'. .
br0g71.. %< 10-99 ...

0-04sh+ F+F = dHA
Q4994

@)
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18. A primary school has a running track.
It has two straights of 50 metres.
Also there are two ‘bends’ that are semicircles with diameter 30 metres.

Work out the distance around the running track.

lJ’-\.\MIL o.(ﬁ'flt’&c"

T\(‘So:qb-a‘ﬂ--.-/'\
94242 + So+50 = 1942838 -
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19. Shown is a semicircle with radius 3cm.

2

3 3cm

Work out the perimeter of the semicircle.
Give your answer in terms of .

'ﬂ'x‘ < UT

fr=a= 37

I +3+3
= 3174-‘
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20. Shown is a table top.
It is made from a 1m sguare and four semicircles.

21

Calculate the perimeter of the table top.

Tx\= T
el
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